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11 figure 2.52 In the left figure the length of the partition is called dλ
L

λ
F

dy

dy

14 first line of 2.5 between to between two (or more)

24 table 2.2 line 5
4 0 − 2 2 0 4 0 − 2 2 0.2

26 formula 2.23
T = F1r + F2r T = F1r − F2r

28 formula 2.28 ∫
F2

F1

dF

F
=

∫
φ

0

µdθ = ln
F2

F1
= µφ ⇒ F2

F1
= eµφ

∫
F1

F2

dF

F
=

∫
φ

0

µdθ = ln
F1

F2
= µφ ⇒ F1

F2
= eµφ

40 below formula
4.9

If i is much smaller than 1 (if b becomes much bigger than a) If i is much greater than 1 (if b becomes much greater than a)

42 below formula
4.15

If i is much smaller than 1 (if rA becomes much bigger than rB) If i is much greater than 1 (if rB becomes much greater than rA)

45 formula 4.28
and line below

U =
1

2

F 2
in

ksys
=

1

2

F 2
AC

kAC
+

1

2

F 2
BC

kBC
=

1

2

(
Fin · sin(β)

sin(θ)

)2

kAC
+

1

2

(
Fin · sin(α)

sin(θ)

)2

kBC

The stiffness of the truss can be derived by dividing the energy for-
mula by 1

2F
2
in.

U =
1

2

F 2
ext

ksys
=

1

2

F 2
AC

kAC
+

1

2

F 2
BC

kBC
=

1

2

(
Fext · sin(β)

sin(θ)

)2

kAC
+

1

2

(
Fext · sin(α)

sin(θ)

)2

kBC

The stiffness of the truss can be derived by dividing the energy for-
mula by 1

2F
2
ext.

48 line below for-
mula 4.38

Dividing formula 4.38 by1
2F

2
in Dividing formula 4.38 by1

2F
2

50 line 4 in 5.1.3 bending (a) and shear (b) shear (a) and bending (b)

51 caption of fig-
ure 5.3

Deformation due to a) bending and b) shear Deformation due to a) shear and b) bending

51 formula 5.4

kshear =
G ·A
fs

kshear =
G ·A
fs · L

52 table 5.1 Form factor rectangle 5
6 Form factor rectangle 6

5

55 equation 5.8

klarge angle =
KG

L
+

1

120
E

(
φ2

L3

)
tb5 krlarge angle

=
KG

L
+

1

360
E

(
φ2

L3

)
tb5

56 table 5.2 top 3
rows

0, 0, ̸= 0 The Cw is not applicable for closed profiles. If there would be a value
it would probably rather be very high than zero.

56 table 5.2 row 8

K = bt3
(1
3
− 0.21

(
1− t4

12b4
))

K = bt3
(1
3
− 0.21

t

b

(
1− t4

12b4
))

57 figure 5.10 figure of stiffening should be as in figure:
𝜑
L
rad
m

1.5:1

1:1

0.5:1

b

L

T

t

Tk large_angler

krI

60 calculation
Cw = .... = 8.10 · 105mm4 Cw = .... = 8.10 · 105mm6

60 calculation

β = ..... = 3.04 · 103 1

mm
β = .... = 3.04 · 10−3 1

mm

60 calculation

krI = ..... = 15.7
Nmm

rad
krI = .... = 1.57 · 104Nmm

rad
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60 calculation

krII = ..... = 529
Nmm

rad
krII = .... = 5.29 · 105Nmm

rad

60 calculation

krIII = ..... = 20.6 · 102Nmm

rad
krIII = .... = 2.06 · 106Nmm

rad

60 calculation

krIV = ..... = 40.5 · 102Nmm

rad
krIV = .... = 4.05 · 106Nmm

rad

65 figure 6.1, ver-
tical axis

F k

68 figure 6.5 lines for r1y and r2y are drawn from the midpoints of the ellipsoids

r1xr1y

r2x
r2y

y1

x1
x2

y2

θ

71 formula 6.15

δA =
F

L

1− ν2A
πEA

(
2 ln

(
2dA
aA

)
− νA

1− νA

)
δA =

F

L

1− ν2A
πEA

(
2 ln

(
2dA
aAB

)
− νA

1− νA

)
(approximation)

or

δA =
F

L

1− ν2A
πEA

(
2 ln

(
4dA
aAB

)
− 1

)
for dA < RA

71 formula 6.16
and 6.18

aA =

√
4FRA

LπE∗
and aB =

√
4FRB

LπE∗
aAB =

√
4FRc

LπE∗ with Rc =
( 1

rA
+

1

rB

)−1

71 formula 6.17

δB =
F

L

1− ν2B
πEB

(
2 ln

(
2dB
aB

)
− νB

1− νB

)
δB =

F

L

1− ν2B
πEB

(
2 ln

(
2dB
aAB

)
− νB

1− νB

)
(approximation)

or

δB =
F

L

1− ν2B
πEB

(
2 ln

(
4dB
aAB

)
− 1

)
for dB < RB
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